# Valentine's Day



NEW 3127-144 Pick Asst. Wood. Clip. 12" Tall ● 3"H × 2¼"W \$24.48 pk/24. \$1.02 ea Oty Ordered \_\_\_\_



**9747624** Pick Asst. Foam. 17" Tall • 3¾"H × 3¾"W × 1¾"D **\$27.48** pk/12. **\$2.29** ea **Qty Ordered** \_\_\_\_\_



3127-313 Wine Tumblers
Insulated stainless steel with acrylic lid.
12 oz • 4¼"H × 3"Opening
\$37.24 set/4. \$9.31 ea
Oty Ordered SOLD OUT



NEW 3127-270 Travel Tumblers Insulated acrylic with lid and straw. 20 oz ● 7½"H × 3¼"Opening \$37.20 set/6. \$6.20 ea Oty Ordered SOLD OUT



NEW 9749600 Mugs Ceramic. 13 oz \$21.72 set/6. \$3.62 ea Qty Ordered



NEW 9748060 #4 Pot Covers Melamine. Food safe. 4½"H × 5"Opening \$15.48 set/12. \$1.29 ea Qty Ordered SOLD OUT



Customer #:	
Store #:	
Phone #:	( NOTHING bundt CAKES* )
Contact Name:	the state of the s

#### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Julie Rook – Ext. 2210 • Courtney Barker – Ext. 2239

Diana Fairbairn – Ext. 2397 • Nicole Waterfill – Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.







NEW 9749444 Mug Asst. Ceramic. 13 oz \$37.20 set/12. \$3.10 ea Qty Ordered



NEW 9748853 Planters Hand-painted raised ceramic. 3%"H × 2½"Opening \$42.72 set/6. \$7.12 ea

**Qty Ordered SOLD OUT** 



NEW 9746125 #4 Pot Covers Melamine. Food safe. 4½"H × 5"Opening \$15.48 set/12. \$1.29 ea

**Qty Ordered SOLD OUT** 



NEW 3085-206 #4 Pot Cover Asst. Printed tin. PVC liners. 4¾"H × 4¾"Opening \$28.56 set/12. \$2.38 ea Qty Ordered



**9737176** Mug Asst. Porcelain. 12 oz **\$25.86** set/6. **\$4.31** ea **Qty Ordered** 



NEW 3126-155 Mugs Ceramic. 18 oz \$34.08 set/6. \$5.68 ea Oty Ordered SOLD OUT



NEW 9749784 #4 Pot Covers Melamine. Food safe. 4½"H × 5"Opening \$15.48 set/12. \$1.29 ea Qty Ordered \_\_\_\_\_



Customer #:	
Store #:	
Phone #:	( NOTHING but
Contact Name:	Sandy and the

#### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Julie Rook – Ext. 2210 • Courtney Barker – Ext. 2239

Diana Fairbairn – Ext. 2397 • Nicole Waterfill – Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.





NEW 9749807 Cutting Board Gift Sets

Wood and stainless steel. FDA approved for use with open foodstuff.  $2\frac{4}{H} \times 13^{H} \times 11\frac{1}{2}^{H} D$  5½" Long

\$45.54 2 sets. \$22.77 set Qty Ordered \_\_\_\_\_



NEW 9749461 Mugs Ceramic. 16 oz \$46.68 set/12. \$3.89 ea Qty Ordered \_\_\_\_\_



NEW 9749601 Mugs Ceramic. 16 oz \$46.68 set/12. \$3.89 ea Qty Ordered





**Qty Ordered SOLD OUT** 



NEW 9743075 Mugs
Hand-painted recessed ceramic. 14 oz
\$44.64 set/12. \$3.72 ea
Oty Ordered \_\_\_\_\_







NEW 9749456 Mug Asst.
Hand-painted recessed ceramic. 14 oz
\$44.64 set/12. \$3.72 ea
Oty Ordered SOLD OUT

Customer #: \_\_\_\_\_
Store #: \_\_\_\_\_
Phone #: \_\_\_\_\_
Contact Name: \_\_\_\_\_

#### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Julie Rook – Ext. 2210 • Courtney Barker – Ext. 2239

Diana Fairbairn – Ext. 2397 • Nicole Waterfill – Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.

Pricing reflects current market conditions and

LOVE

| NEW 3122-144 |
| Pick Asst. |
| Wood. Clip. 12" Tall |
| 2¾" H × 3"W |
| \$24.48 pk/24. \$1.02 ea |
| Oty Ordered | SOLD OUT |

Preinflated
4"-13H-14
Includes cup and stick.
1.11

Order in multiples of 10.

Qty Ordered \_\_\_



Melamine. Food Safe. 4½"H × 5"Opening

\$15.48 set/12. \$1.29 ea Qty Ordered <u>SOLD OU</u>T





#### NEW 9749395

Travel Tumblers
Insulated stainless steel with lid.
20 oz • 7"H × 31/4"Opening

\$37.24 set/4. \$9.31 ea Qty Ordered



#### NEW 9749397

Travel Tumblers
Insulated stainless steel with lid.
20 oz • 7"H × 3¼"Opening

\$37.24 set/4. \$9.31 ea Qty Ordered



### NEW 3122-270

Travel Tumblers
Insulated acrylic with
lid and straw. 20 oz
7½"H × 3¼"Opening

\$37.20 set/6. \$6.20 ea Qty Ordered <u>SOLD OU</u>T



#### NEW 9749316

#4 Pot Covers

Melamine. Food Safe. 4½"H × 5"Opening

\$15.48 set/12. \$1.29 ea Qty Ordered



## **9747554** #4 Pot Covers

Printed tin. PVC liners.  $4\frac{3}{4}$ "H ×  $4\frac{3}{4}$ "Opening

\$31.56 set/12. \$2.63 ea Qty Ordered **SOLD OUT** 





#### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Julie Rook – Ext. 2210 • Courtney Barker – Ext. 2239 Diana Fairbairn – Ext. 2397 • Nicole Waterfill – Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.